BF FRl25EEF67RAEZMESEERRERBTREELFHASE MR FESHENSEERANELRERE RIE—EXR(BHET) No. 1
a3 —K : 13222054 T25%583B(&®)~58408 (1) SEMELFES  HEIEO—K 223030
ait| # B E"fﬁz 1 2 3 4 5 f 6 i 7 8 i
5/3 100m 2R HE (2 1094 | H@E HwtL Q@) 117006 |EE xTE 2@ 11812 TOBE# 3 11E31 | KH B @ 11836 | AZ IF Q) 11847 | LR X Q) 1152 [ fE Q) 11§60
-2.2 2)1 2R B E AR SEARER INRFE B R BEE 21
5/4 200m il & (3) 21788 |BAK HIE (2 21897 | KT HFth (3 22816 |ES tE (20 22738 [H@E Rt 3) 22855 | 8K KRIF (2 22872 |HF BEE (@ 23805 | t E (3 23823
-0.8 2)1 2)1 215/ B EEE Z2BR 21| Z21BR BEE
5/3 400m )il & 3) 41857 | RAT Fth (3) 48%084 | FAt FEIE (20  49F060 |pwaT wux (3)  50F32 (B ERE () 50873 |thE I (2) 5084 | BB MTE (3 5182 |MT EF (3) 51793
2)1 GR E8E GR 2R RE BEE EFF B £R 215/
5/4 800m #BK R (3 15587082 hE BEH (2) 1759%829| A& BEER (3) 24700F008| 5K HEA (3) 24008000 Ak AhMst (2) 25000F099| AR fAFR (1) 2201704 FUE EBKR (3) 2401F19| HE Kth (3) 25017047
Zi5r E T Z2BR SERRER 30 21| 21| 28R
5/3| 1500m HH BE Q) 49501875 KB ML (3) 4502837| AIE #E (3) 4904F61|FEE MK (1) 4507H70|5AE 2 (3) 4508F006| KAt A (3) 4908F007[ $4K #HIE (1) 4010804 BEANI & (1) 453128028
2)) 2)) B EEE 2)IT 2158 2)I|T 2T 2)1
5/4 5000m ER R (3) 14m43b22] BH 15 (3) 15201847 M1 ES (3) 155209F067|messeer s (1) 155316F057) KA M (3) 1590178069 85K FF (3) 159019877 AIE #hisk (3) 159732877| H)Il Eth (2) 15550851
2)x 2)) 2158 2)1 2)1 R R SR
5/3| 110mH MEE K& (3) 158083 |k EH (3 15895 [ EA (2 16810 [EK WA (3) 167030 |IRE KE (2) 16F046 |BEH FIF (2 16Fb64 [ BHE (3) 18F20 | 4 E (3) 187)96
(1.067m) | -0.8] 24T 25T B EEE Z2BR Z2BR E T IMNRFE 215/
5/4| 400mH MiEE K& 3) 54870 [iEK WA (3) 55FM6 | HiE EAE (3) 56Fp00 [EFE &3 (3) 57F01 [#HK Z4& (3)  59F01 |[FA BE 3) 59878 |HE FH (3) 1501708| Kt EE (3) 1503701
(0.914m) Z2BT Z2iBR B EEE B E R RE BE E T 2151
5/4 | 3000mSC Bl BE (3) 95339877| EIR B (3) 9044R84| ANl EHEB (2 9540Fd6| i BE (3) 9957Fb65| thit EE (3) 105058056| EIFE Mt (2) 104%00Fb89| A ZREL (3) 10917F15| BE ETE (3) 105215008
2)) 2)) 2)) “)x RE 2)I|T 2158 E FF
5/3 | 5000mwW Y #H (3) 24537%050)
BBR
5/3 | 4x100mR 2 41%22 R EEE 42573 INRF 43F014 2R 437h28 2158 43734 2151 437043 SEERER 437087 E 447015
Xz #HKX ) GR |1BE #% 3) Eig 5E ) BN BiE @ Fa RE ® A B (3) K EE ©) B B&/
Il #E Q) A% IF () WA ik @) #ikE &1Z Q) AT Fth Q) BH M (2 I B8 Q) BH 24 @
#]KR BRI (2) Be & @ WA BE () KA K& (2 "T ER/R @) Nk X&E Q) B2 ik @ xe E (©)]
2R HIE () R R—E (3) KA 588 (3) HE At Q) WiE EX (2) AH it (2) TR EE Q) FmME E# Q)
5/4 | 4 x 400mR RE 3520834 2 35321%b60| 245F 34323%b00| Ei5E 35323070 BEEEE 35324%040| FEERE 35268007 2R 353315082| /MR 35334525
Ha =2UF (3) Il #E Q) mT ER Q) e Et Q) B & (2 TR EE Q) BE HE (2 EE FE )
NI TE S (3) EXK &HE (2 g ZEX (2 i EiE 2 =g fiE () &2 ik @ %k BEx @ WA KX Q)
#]/AR FEE () X LXK (1) 8 RE Q) AKX OBEA () A% IF () #]|AR HN () fulll £8 (3) #E zE Q)
AR 7 (3) #}AR BIE (2 AT B (3) BE HA () BEE B8 (3) I BER @) 282 ¥ () A BE Q)
5/4| ESBE T BE 3 2 1m96 |mE & 3) 0 1m93 | Mk B 3 1m0 | WWH & (3) 1m85 [{-k Z#E (2) 1m85 [FEH =G (3  1m75 |WHE &EE (B 1m0 |AF & (2)  1m70
2)1 2)1 2158 BIBE BER 2)1 RE BER
5/3| #EEBk BB E— (3  4md0 |FEE OBEE (1) 4m0o0 [ILE HER (2 3m60 |E=E fREE (3)  3m20 [
21| @) @) mO — |
5/3 | ENRB B wth (2 6em75 |#HTF BA (2 6m69 |4 AW () 6mad | I TH (3 6md6 |IREF A ()  6m28 [EE FIE () em17 | dtA B ) emi5 |#EHA K 3)  6mo7
B AR +0.3 RE +1.7 2)1 -0.5 RE +0.3 B EEE +1.1 g2r -1.2 Lk +1.6 BER +1.6
5/4| =Bk Fh BEfE 3 13m70 |HFTF BK 2 13ms8 | # =F (3) 13md3 |#L Eth (3)  13m35 |MO0EE A (3)  13m09 |[fFEE FEE (3) 12m95 |RJI BA (2 12m71 |[#A BK 3  12mi7
2)1 +0.8 RE +0.3 e +0.2 215 -0.9 215 +1.3 BETR +0.8 2)1 +0.9 BER -1.1
5/4| ARk BE Xt (2 10ma1 | A& XE (3 10m40 |BEZ ISE 3)  10m37 [HF ZTA 3 0 9m89 |BA HE (3 9Im8 |SH =& Q) 9m69 |EIE EE (1) 9ame5 |FEE A4 (2 9m26
(7.26kg) EER &L ZiET BEE 2)1 EFF B E i
5/3 | MK LS #E (3)  33m68 [#AK {EE (3) 30ms81 |HBE FE (3) 30m72 [#k E—#F (3) 29m31 |EO A 3) 28m72 |#K EE (2 28m41 |[EE HE @)  28m31 AN =N Q) 27m18
(1.75kg) 2)1 RE 2BT £2r e RE R SEERER
5/4 | I\ —1% B0 A @) 31m23 |HBA Fth (3) 30m52 [#K BF 3)  24m72 [ KE (2) 21m84 |BK fFHth (2) 20mi6 |BEF FE (3 19m0o1 | HE BKX 3)  15mNd
(7.26kg) EXEE RE RE 257 RE 25T &L
5/3| UK B EAE (3) 50m05 | EH (3)  48m67 |Al REE (3)  46mad |fREEE BAE () 45m82 [EUE it (3)  44mb4 | EHE BN (2)  42m66 |#AK B= (2)  42mi10 [ EE (2 41m32
| | sk B 2| 2 BE 3z o o BER
B & B = = 122 A ke 50 M| =t 48 5| B ER 30 M| =tam 30 A=l 27 =L 14 A EEE 13 &
Sy OB a2 72 A|EBER 37 | |EEE 31 B | 2BE 21 B 2T 18 S[2)IIT 14 SH|HE 13 & |ERF 9m
24— JILFEE &|EN 50 S|E 37 H|SBR 11 &3 BEE 11 A[2BT P X 9 & [RFEE = BT 8 &=
GR: K&#it8k GRY : K&k~




TF FR25EEF7TREMESEERREREREELBRBEASEZ MR FESFR NS EERMNELRERE RIE—EXR(BHHET) No. 2
a3 —K : 13222054 T25%583B(&®)~58408 (1) SEMELFES  HEIEO—K 223030
ait| # B E"fﬁz 1 2 i 3 i 4 f 5 i 6 i 7 8 i
5/3 100m JRS FUH (2) 12841 |0 #&mm () 128078 | A B (20 128084 |Ht BEE (3) 12888 |HE ESH (3) 13708 |fRE BEiL (3) 13F17 |EAXR ABE (3) 138023 [ #IE& (1) 13831
+0.3| 2158 B/TERF EFF EFF 2 B SR @)1 2i5m
5/4 200m JRS FUYH (2) 25876 |uO #EM (2) 26871 | it BRE (20 26F082 |Et BREE (3) 26¥093 |kO EE 3) 27816 |HRHE ESH 3) 27836 |%mE BEF (2) 27845 [RE B Q) 28811
-3.3| £i5%m B/t EF BER EFF BE 2i5% 258 BEE
5/3 400m B3I ki (3)  59FM9 | At BRE (2) 597076 |4eE ZE (2) 1900%028| =i BEF (3) 1500%065|Ht BEF (2) 15008094| KT EI (2) 15008099 BA EHE (3) 1501725\ FE EH 3) 1507867
EER BER 215/ 0 25 EFF RE BEE
5/4 800m HE X Q) 2920853 Sk BE (3) 2921820| A KA (2) 257218091 RiE REE (3) 2572315 Kt EA () 2-23F080|HH REF (2) 2024733|EHF BHEF (2 2527786 Sk EEM (2) 253308081
@)1 EIFF B E AR 21| 21| 25K PR EFF
5/3 1500m IWE BXEE (2) 4532881 HFE BE (2) 493757033| B4R fEE (3) 438F47|%# BIHE (3) 44745F035|#3 EER (3) 4549F043|AF D Fib (3) 45049%067| % BEE (1) 4956F044| KB &0t (2) 44358%090
@)1 )T 21| ®)|T B E AR 25K B SR RE
5/4| 3000m m# BEZ (3) 9N39FM9| XA ZEFE (2) 9544F25|5EH HTH (3) 999545005\ AF D Fiib (3) 105235069 KAE ANME (2) 10927Fb91|LAE #5%71 (2) 105>28F097| $EE H3E (1) 10933002 #ME #&7E (2) 105 427bo1
BEE )T )T Bi5% BE a)|T B E AR BER
5/3 100mH HOFF 3 16740 |BB ERZ Q) 16875 |BFH KBE (2 16878 | FH FK (1) 16783 |{kEE FE (2 1688 | WL indE (20 16F92 | KH EE (2 17TRM8 | MT & (2 17854
(0.840m) | -3.0| =45/ EIFF B TR 21| EER BE BE 2158
5/4| 400mH RN KA (3) 157067008| S4B Efh (2) 15706F085|Ea HEZ (3) 1707885 FEih B (3) 1908%62|#k W&HFF (3) 12097008 =)l HF (3) 1509748 EAR £T (2 1512811 KF #&E (2) 15137040
(0.762m) 2k 215/ EIFF BE 215/ (i 25K RE
5/3 | 5000mW
5/3 | 4x100mR E FF 49%122 2158 50§004 2R 50013 RE 50030 B EEE 5033 2 50096 EeRr 517095 | B/TEXF 528014
KT BB (2 GR Ll EX (2 B3 K# (3) Wt i @ RE BE# O) B# &1 2 K =8 (2 BH BE Q)
Heh BRE (3) IRS YUY (2) RE BES Q) £ X @ BH BE @ BA ABE () =H EE © B B (2
il =R () #BRK #E (2 fRE BF Q) KA EE Q) kIF EF (2 & 5 Q) FEH NE Q) EE $E (2
& B# (2 ® DEF () ER EHL Q) =@ hE ) = EFE () M AEF (1) FE X Q) e #&m (2)
5/4 | 4% 400mR 2ER 4503F043|  E4EF 445y06¥008|  EFF 4508F020| BSERE 43117043 HE 45312F079] E4ET 453147084 IMRFH 453187046 EERE 4453207086
R BEF = OES (2 KT BB (2 BHF BE @ BAR =X @) Bl E=BF Q) L@ &fE Q) Em FEF (3)
RE HFE (3 %H BEx (2 ne B @ ERE A (2 kO =& @) LE BET (2) Ae Hl () Wil =R (2)
it FE (2 A B Q) P& BE Q) KHF EHF (2 =E HTE (3) B% kim (3 I\ kE (@ KAHE B#FE Q)
EEIIIES G IRS TUY (2 A BE Q) R Bt 3) B EDE (3 B XF (2 FE B (2 s BB (3
5/3| E=Bk KHIE 50 (2) 1m60 | BEr k& (3) Imb55 |EBRMA EF (3) Imb5 | Ml BZ= (3 1md5 |KkE T2 (2) Imas |mll EHE (2) 1md5 |EF RA (2 1m0 [AE BRD (2)  1m40
21| 2] 2k 25/ 2i5m SEERE BE 2158
5/4| FEMEBE BA AWME ) 5md2 [T BZE (2  5m30 |EIR BME (1) Smi2 |IEM e (1) 5m04 [EH &M (2 4m96 |MA BE (1) 4me3 |#AK HK (3) 4m80 [MAX EHE (1)  4m73
2)1 +0.5 EBEE +1.7 2150 +0.2 2)1 +0.4 2)1 +0.1 2158 0.0 RE +1.9 RE +0.3
5/3| ARk it e (2 10m9es | &= B (3) 9m83 |FE ERX (20 8m84 | A X (2 Tm9t [N TR 2 0 Tme9 |EE HE (2 Tmds | KE Q) Tmal |X& FEH () Tm37
(4.0kg) BEE BER 2i5m 2] EIFF 257 25K 2158
5/4| MR hR FE (2 29m19 | A X (2 27m34 | hFE FFEE Q) 26m55 |EEE EFE () 25m34 | E R (3  25m25 |FH EEX (20 24m94 | KF ¥ (2)  23m79 | K& (&BH (3)  22m93
(1.0kg) BEE 2] 2k 2] EBEE 2i5m 25K 2158
5/3| UK ABH BEE (3 30m78 | KA EF (20 30me9 |£FE F 3)  29m71 B KB (3 29m11 | RE #5F @ 28m29 |iA FHE 2@ 2/mi0 | #HAK ¥ Q) 25m91 |thAt I (2 24m91
(0.6kg) BE BEE E2 el /LT 2R BE BE 2R
B A& & B |2k=n 61 m|=tam 43 B2 42 S |EH 37 o | efah 24 o | FEER 22 M 20 A EX 19 &
S v H A IEBR RS E 39 = |EfF 35 | [2)Il 25 | | EEE 22 A[Z)IT 18 m|HE 13 = |BE/TERF 10 |
74— L F & A |E2EE 23 B|EBR 20 S [2)II 17 G|EEE 17 5| 2488 11 S|RE 7 A |2EE 4 S|/ TERT 38

GR: K&k GRYM : KRTLEHRAA




No. 1
FSwo - T4— )L FHEH - F:E - R - R - BRERE

bEl B0 a—F [2] giiay FRSEE FOEBMNESSYIRMAGABASEEIASESAHRTRE o § [13222054] spuE Rl BB(5) "B EZO0W)
A BRSSSYRAEESE R=ABELBEERS Y ERTELRRS a—F [ 223030 | i #NL T
LIRS EE I e | wmes | e | wmes | i RV P sk
05/03[ B F TE | 1| on 1 |ER BE 2|2 0803 |2|BF 2% 3Bk BEZE BEEEEEEEEEES TI#67 | 4|Fm BL J|2Bx 1778
oo HEIEZSEIEE 79 |[6[BEHF X 2| &5 T |[7|RE W 2|@mz 2873 | |WE X& 2 |E2Ra %%
05/03[ B F TE | 2|+0.2n 1 ER xB |BakE 0892 2|28 BE 2|=ka T3l |3 |AH R 2|=mL 1933 | 4|KB BA 3|2 13539
oo SkA BE  3|BE 45 |6|[ERABS 2 |BmR 72823 |T|FE FE  3|&# 2043 | |l ®’X 2B %%
05/03|BF TE | 3|01 1|3FE e 3 |2BR 05 | 2[RRE  m  S|B2E TI#014 |3 med 1581 3 |=tam 105 | 4|/8E @E% S |/MR3T 128507
1%0m 5(85H =i 3[(EF 127045 [ 6 |9 EZR Rt 2|28 R 12162 [ 7|5X BN 2|#FR 13%#047 8T M 3|EE 157091
05/03[ B F FE | 4[+2.0m| 1| RAH THEE 3|k T30 |2 |B3F #ieh 2| =L IEZE HE N EEES TI60 | 4K8 K& 3 |=em 1774
oo 5|E% W 3|BER T8y 6|80 %— 2|BBTHE 705 |1|E8 A5 2 |BRn 128061 BA BB .|FRREF %%
05/03[ B F F& |5 |14 1[;L  BE 3| RER X B R TI#33 | 3|88 B#& o |RE 11162 |4 EF BEZR L2|EM 12502
oo SBA A 2|B2RE 2102 6| BE 3| EEE 2806 |[T[XR RE 3| BHrE 128028 [8|LA BR 2|FHR 121046
05/03| B+ FE | 6|0 on| 1|k BE  J|R=E 1986 (2|68 K J|EM 27003 |3[AE BB . |EEE SV O EEE R E S 27061
oo 5|RHEAR 2 |ERT 2886 | [AE fmx I |maf% 73 T EE 1 |E2RA x5 AK B% S| RBR 3]
05/03| B+ TE | 7|1 0m 1[0A BXx 3 |EEE 839 |[2[A% iz I |Ha8% 50 |3/ B 2 | TI#79 | 4|EBE &R 3|/MRaF 1785
oo BEEREZ IR 90 |[6[FMAEA 3| BEFE 2102 |[7T|LW &E 3|2 2052 |8|EF = 2B 12101
05/03| B+ TR 1|2 M1 [Ex tE 2|H=f% T4 2T BHE 3| &m=n TI38 |[3[AH T8 3 |/IR¥ 50 | 4|7B e 3|2 TI355
oo SEF AW 3|BE 962 (6|8 mr 2|=hd 864 |[T[FAE Rt 2 |=BL T80 |8|RR = 3|2 127506
05/03| B+ R 2|10 1|FE B 3|ERR I B N HEEAEEEEESS T4 |4|LA B%x 3| BEE 1345
oo HEE GRS 62 |[6]X%B BA 3|21 TH68 |78 K= I|EM 28008 B[k BB 3|m= 12817
05/04| BF FE | 1|01 1|BA BB 2|20 2247 | 2[EE—E 3 |2mm 2B3] |3 |BH =&k 3| 25166 |4 Ak A% 1|2 257585
2o S EE A7 26862 6T BA 2|2EHE 26%591 % BEL J|2RR /3] A EA 2 |BEE /3]
05/04| BF FE | 2|06 1[FIT HE 3| 22/5] | 2|BA RE  2|RE 23968 3|88 B& 3 |EE BT 4Rk 1B 3|HEmE 247526
200 SRF EZ  2|EW 2P0 |[6[Fm =@ 2|BRE 855 [ T[LA BEX 2|FHR 5888 || [BA BRI 2|FW /3]
05/04|BF FE 3|11 [BEx nE 2|HSfE 22061 | 2|[BE Re 2|2 23W8E [3[B8 BE— 2|FHR 2B03 |4V BA 2 |2RE 247564
200 5@ Bk 2|2BT 5943 |[6[A shem 3| 2EE W64 [T[AT B 3| BheE BH | |27 BE 3 |2REE /3]




bSwY - J4—ILFiEHE - FiE - R - R - BER

No. 2

bl B0 a—k [2] BrEes  FHSEE FONBNRSEIHAAHEARBEIARR=ABEFEE o—F  [13222054] #HHE S BHG5) SE B 00W)

A BRSSSYRAEESE R=ABELBEERS Y ERTELRRS a—F [ 223030 | i #NL T

ner| mn [ ma | W s P wr | M wmoens i wa | M wmoens P e | ) wmwens P sk

05/04| B+ FE |4 Tom1[~AF BB EF 228527 || 2[R kO |ExE W5 | 3|EF LW I |EE W31 | 4|AE Rt 2|=2RI 23145
oo 5| FE BA 3R 257500 |68 R 2|BRemR 5779 | T|[IRABAR 2| #heE 258591 AT EA 3 |ERA %%

05/04|BF TE | 5 |-2.0n 1|5 Bk EF o 20014 |2 |BA Ran 2|2 2122 |3|2m BT 2|=Em 2367 | 4[BK =& S RER 285514
200m 5[EF =x 2|8 2465 |6 ILE B 2|mB 5851 | T|[BA AR 3 |BRER 267505 | |[FFR B3 2 |BHEE %%

05/04|BF TE |62 om1|FE HE EF o 2010 [2[A8 BA 2|R=E 201085 3|/ =ik 2 |=hem 28536 | 4B mE 2| EEE 247590
200m EAEER 2 |ERL 207591 6| TR 2|Fm BBB | [BA BB 2| FHERFET /3] AH B 3|NRIF %%

05/04| 5B+ FE || 1iL =8 BERR 201036 |2 |FME B O |k 207049 |3 |EE Z0ml O |/NRIT FTT | 4|BiE A 2|Em 25%555
o 5[FE FIE 3| & 267560 | (LA Bx 3| EEE 73 BA e 3|@mO %%

05/03| 5+ TE | TR BE ] SR8 (2|BA = K% 5256 3|28 m— 2 |PmE 53013 |4|EEH BIL 3 |HE 547559
4o 5|BEF RT Q%ﬁa 55%43 |6 [T BB 3|/NR3 588 |[T[EM BRE 3| EmmR SRS | [HE Ex  2|BBT %%

05/03| B+ = | 2 AT HE J|2mm N | 2[FR BEm 3| RBR 554 |3 |BA RE 2 |RE S200 | 4RA RE 3 |IRE 5275718
o0 EEEES gﬁ: 56Fb12 || 6|k 2@ 2|2R 585 || 1| PHRAR 2| GBEE | 1500803| |5k BE 2|BEE 3]

05/03[BF TE | 3 THeis <0f 3|RE 5094 2[00 Bl 3 |ERR SII6 | 3|LE =Xk 2 |2Rm ToM5T | 4|Bm TR 3 |Em B3R5
400 BEEEEEEIEE 547062 | 6|EE WRE 2| BheE 599 [T[®A B 3 |IRHF SeET2 | |[EAmESL 2| BBl %%

05/03|BF FE |4 T|FE =8 E T 502 || 2|%E R 2|2k 517085 |3|&%& Mk O @aEpm 5248 | 4[LEX H=E 3|2 557530
4o 5|XFE EX 3 |ERAE 56737 |[6|Fm mE 2| EEE 6T06 || 7|®A AE 3 |Em@ER | 1501500

05/03[ BT FE |5 TEN BfE  2|2BR S0 |2 BR 3 |=mm SIB26 3|’ BE 1|2 53F51 | 4|1BH &9E 3 |Em 54Fb15
oo 5|ER MEm  3|PmR 55942 |[6[fIE mE 3 |=ied 56¥b35 || 7[HA WhE 3 |mE 5301531

05/03|BF TE | 6 T8 BB 2|EEE 50Fb84 | 2[&FE #F 3 |mam SII06 || 3 | TeE 2 |Bh 52522 | 4|k AR 3 |BRBR 53784
oo HEEEEEEES 55F21 |6|EE Bah 3|2l 56¥b44 || T|ILE =B 3|2tk 587596

05/04| B F = |1 TBA BR o|2kHE THo038 | 2|18 A 3|2 27001034 || 3| K 3| BRR 2700062 4| BB 2 3Bk 225017505
oo SR BEA 3|EE 2504028 6| B8 MmO BHR 275065550 7 [/INE —#% 3|k 255121081 | 8 [ABHIALS 1| BRE 253148517

VKR ® 2|BREExR | 2219D02[0[BA KB 3| EEE 25328725




bSvD - J4—ILFER - FiE - ERE; -

R B -

Flo e

No. 3

bty B4 a— (2] gy THOEE FOEBMESEFRUAKRBALELIASTSTHRTESE =— [13222054] g RE BH(50) BB EZ00W)
A BRSSSYRAEESE R=ABELBEERS Y ERTELRRS a—F [ 223030 | i #NL T
ner| mn [ ma | W s i wr | M wmoens P wa | M wmoens P e | ) wmwens P sk
05/04|5BF FE | 2 T[A& B J|=BR 15501080 | 2[RBR faom 1|20l 17350881 |3 | hE B8 BT 2500013 4|k R S| BEEE 273065509
800 5[ Bk 3|l 255087064 | 6 |[FREE—Bs 2 |B B X8| T[EK BE 3 |BE 25516195 8 (i R 2 B 253307539
BEEEE I EES x5 ME WE 3 |ERm x5
05/04|5BF FE |3 TIRE = J|a8Rn 2501133 2|/ me 3 |=iam 275024065 | 3 |SEE  HESF EE 2530328 [4 PR =% 2|21 255047501
500 BEEEEEIEE 273061059 || 6 |[&2h TRE 2 [BHFE | 2700076 7| ER 2 |5hR 2510046 8 [MA 21 2| BEE 253197543
9XH @ 2|ER&E 272786 | AR B 2|ZIT 73
05/04|BF TE | 4 T ES 275008 18| 2 [BTR —3h 2 |BEEE 2500B12| 3[RE & 3 203 | 4| Bx S |EBR 253037588
500 5|ERe kB 2|2REm 27507958906 [BR7T e 2 |/NR3F 27308837 T [AI& KM 2 BER H1BI|[8[BA = 1 |[BBFE | 2513848
9AF BE 2EW 25138061 |10|FA s 2| 23195519
05/04| BF = | 5 T[&& oL@ 2|=h 273019592 [ 2 [JREs T 2 |/NR3T 27303123 || 3 | A% TAM 2R 27058018 48 m S |BE 2550735 18
500 S[EE BA 2|mE 23786 [IFERZ 2| RER 231309 T[ILHF RE 3 |BRTR (2719819 8|BA BE 2|=2iEm 253223045
5 kA 3BT 73
05/04| BF R T[E® BA 3|20 27301910 8|5 K 3 |ZiBR P IR 27503154 [T0|RE =% 3| BEPR 273007536
05/03 ;E)%Lm 7%5% T T[A& W% J|HBmE 4312001 | 2|[AM  JA 3 |=INT 45312015 3[RE L 3|20 LEASpEIYE] AP - A -3 = 453121559
oo S|®A S 3 ,%%B% ATIAT| 6|7 = 2 |k TABE| T [E BT 3|mE 4518075 8 (e B 3 |EmR 45319518
[O[RE T# 2|k 43205 T0[/AT e 3 |2ieL 47525815 |[11|FELE & 3 |s&%h 45329066 | 12|FF Bt 2B 473347526
N[E#E =w 1|2k 4538207 [14[&E) A 3|8l 473 48F05 |15 I0A BB 3B 43A0FA0 (16| FaK 3 |BHEE | 55045719
T[T BE— 3| EEE 57306187 ([18[KH @ 2 |2ieh: 5507801 |19[F@E Ba ER/FR | 5532081
05/03|BF = | 2 T[fE BEX 1 |ZT A3TSRT |2 |[Bamk  seoh 2 |EM A510561 | 3| RAIT & 1|21 B0 04| 4[BE BT 3 |RE 453217560
100 BB A302F58( 6|k =k 2 |2Em A506B3| T [AE HE 3| BRR 453287067 8[BE RE 2 |ZMBL 425207591
O[A& w3 |EEE 45330 12|10 EBEAR 2|2k A5330B5T 1|7t Rz 3 |BHR I3BHB|12EF B I EBR 453381 T
BNE —# 3|k BB FRE—B 2 |BamE 4534885 [15[AE KM 2| &Ep 45350168 |16 5 £/ 2 |5 543037592
T[ER BE 2|1k 5 10M 93|16 AZE 2 |ZRBFR | 55301044




No. 4
FSwo - T4— )L FHEH - F:E - R - R - BRERE

bel B4 a—F [z piias  TPRSEE FEBANESIIRRAATASBEIRRESTHETES o—§ [13222054] hiE R BR(7) /E EZ00M)
A BRSSSYRAEESE R=ABELBEERS Y ERTELRRS a—F [ 223030 | i #NL T
LIRS EE I V=T iR, VT i e || wmes | sk
05/03[ BT & T[5E ®a 3|2 4531468 2 |=@ Wl 3 |ERER 31603l Ee 3 |=mm IR 4Bk BR 3 |ERnE 475145582
100 S|®A &m® 1|2NT A3TA99| 6 [FH BSr 3 |BHEfE 431503 | 7[RI Rt 2|EmET 45190488 [BE8 WX 2 |BEE 425285530
O[RE =& 3[&B& 0091 (10[5E e 3|2k AABAT|TI[ET |E 2 [/NRoF Il IRECEE T A 453377526
B[FE ®RA 2|EW 4353 |14 K& 1| BBEE | 4546124 |151N ST 2|HWm 45406 |16| B A B 2[Rl 543005510
7[R wE 2|@0 5750464 [ILF Z=E I |BREPR x5
05/03[ 5 F R 9[E®E sooh 2= ISV I EE R S IS N T S = 4751880 12| PR famk o &L 455225550
e a B[BA WK 3| =fn 47522054 |[T4[8A I&Sr 3 BER I5UFT (15|l B2 3 |2hem 45340825
05/04| 5B+ LU-%R] 1 T[T xthe o |=BL 167730054 2 [BH RE 2 |2BL 0] BEEEESRIEE T 6301058 4 |1 508 3 |E=E 72303111
000m 5|&F K 3J|EER 1795228186 [|JII Bt 3|E2R 17526881 718H BX  2|/MRH 175447086 8 |88 K —% 3 |HE 17546502
9|R#M ER 2[@HEE 175348%066[10[IL T ZEth 3 (2R 17549835 [11| LA BEE 3 [#i 1872027069 12| T T #®2 3 [FHE 1853137020
HEEIE I 185 473B[ 14N HF 2|5 18556M00(| 15|k 1B 2 |EfBFR | 18506850165 BiE 2|Z@TR | 18550872
NEEEERIE S 1953067061[(18[4T42 3RE 2 [HED 19528741958 BE 2(DMRH* 199337827][20[/hit =X 2 [[EIBFE 1953517039
A[FE WA 3| BBEE | 20548%5|2|R0L BA 3| BBEE | 205450800 B8 B 2|EBTR  |20451945| |[Wa BA 2|KE 3}
05/04| B8+ hU-2iR|[ 2 HEES E I e 1453438022| 2 | &8 /32 152017#047| 3 |[S8 E 3 |2HEm 1553008067 || 4 |74e5%4r b9 rx 1|21 1553165057
000 5[RE mE 3|21 BRTT69| 6 [BA =¥ 3 |HEfE 319871 T[A& sk J|HEAE 2 DS 155350151
9|t EHB 2 (k&E 15655270 10[(10(BrTEE & 3[2)IT 1553528067)(11[B 1L F&th 2 _{%?;%I 15553881|[12[=% XF 2|E8Em 1553565587
EBEEEETEESS 535875014 fask 3 |f@iL 16503847|[15|F Bx 1 |2Em 1653007530 16[%  BX  2|m= 1653187520
TI[KE Z=¥ 2|5 1652104 18(FE B= J|=BR 1652585519 #bak 3 |EM 16572970820 M2 R 2 | 16532871
A[E.8 BH I EEE 165 45802||22[3F MR 3 |f@iLl 7505808 [ K& HE 3 |=IT x5
05/03| B+ FE | 1]+ 1Mk KB 3|=mBL 58091 [2[BK BA 3 |2mBR EAE BEEEE B EL 706 | 4| B 3|ZfEm 77580
1omiL1. 087 SIANT @i% 2 |B’L 18123 6|A8 BWx 2|HB 18775
05/03| B+ FE | 2|70 T|AE BE®x J|BRL 5987 |2|AE EN 2 |HafE 6924 |3|RE K@ 2 |2BR 6929 || 4|TaFF BEFE 3 |/MRaT 7361
HOoniLT. 08T 5EE BR 2|mE 7594 |[6]& BA 2|BRE 187552
06/04|BF FE |1 T|RE KB S|2’L 56122 | 2| MEEER O |HaE 5TB3T |3[EA Bm  S|mE TOM53 | 4|Bm B 3|Em 73007562
400mL. 91dm 5[ BA 2|2BR 5020506 |BEE & 2|2km 15028099 7[5 &8 3 |/NRIF 153041531




bSvD - J4—ILFER - FiE - ERE; -

R B -

Flo e

No. 5

el B40 —r [2] Biias  FRGEE FOEDMESSERBAFBEALELIASHIAHBRTESRE =— | 13222054 #HIR Rl BEI(5) EE B 060
LA BHESSFRAEEESE R=AEESBERHES Besns LETELEEERIS a— R 223030 | @k wIl T
ner| mn [ ma | W s P wr | M wmoens P wa | M wmoens P e | ) wmwens P f
05/04| B F TE | 2 Tk Be J|EeKE 5IR83 |2 |BA =2E 3 |m= 5oRA2 || 3 | AEe 2 |EM TH0101 || 4| BB DF 2|2/ T501%53
400mH[0. 914m
R E T5503%82([ 6 [lRE Kim 2 |2B=R ESEZ NEGEEGEE S x5
05/04| B+ FE | 3 TEK WA 3 |=EBR 57#33 2| KM BB 9|2l 5952 3| BA O |E=EE TH00 10| 4| KD Bix 2 |m= 125047085
400mH[0. 914m
5@ B 3|13 310833 Bk BE 2|2km x5
05/04| B¢ R NEEEESREE 05171515 8| BE mE 3 |=M 0721508 9 | BB Bx 2 |BeE 105 25%86|| 10|28k 2R 3= 105325539
3000mSC T~
TM[RE BE 3J|R= 05 3BT1| 12| BAEAE  2|2/T 033780113 BE =X 2|2ka 0R3TH|14ER &E 2 |EH 1093377556
ﬁ@ﬁ}i—ﬂﬂ AL 10445011 |116| B H X 3|%&; 1053447044 (17|02 B2 AT 105346700518 ZR EE REE D 10452F)55
10[F# BB I|R= 10356787|[20[A~E #03h 3 |faiL 3383820 = 3 |BeeE 46081 |22| % BA 2|2 1253167575
T M 2|BRL X% AE Bz ?|2kd x5 BA —F 2|=E= x5
05/03| B+ TE |1 XE BA 3 A =B 3 HH Bk 2 E3 7
4x 100mR el & 3|z 4761 | 2|KAT Bt 3|EEE 437048 || 3|FEE B 3 |BER 435065 [ 4|%E BEE 2|2R 445032
B BRI 2 mF BEE 3 RE R#® 2 Al R 3
| |2 %3 2 g Ex 2 HE At 3 ®KE & 3
NI BA 2 WE WE 2
Sl BT 2|zaEm 45739 | 6| KT fth 3 |@mnz 48%590
NI EH 2 X% BE 3
NI ) ME__ @™ 3
05/03| B+ TE |2 IFEE= 3 At BEak 3 BK =& 3 BE R 3
4x 100mR 1|x% 1F 3\mEm 42891 || 2|@H# @WH  2|BET 43875 35T B#t  3|sEEE 43776 || 4|he =@ 2|EF 458011
Ee TR 2 WE AH 3 BE Bk 3 H EE 3
| |BRE—E 3 AEH 2 T BHE 3 EMA S#% 3
E]’D /I:UL. 2 ﬁ}ﬂ% ’§E 3
AGERS S A 467040 ||6|Fm BH  2|2MEwR 467044
ME AL 3 A #th o 2
KE _BA 3 SABERE 2
05/03| B F TE |3 EIE AR 3 B =& 3 xR TE 3 BE BE 2
4% 100mR 1WA X 3R 4718 || 2B M 3|BE 4750 |3|a0 R— 2|@BzE 47726 4| Ex 3 |ERER 153107623
A KE 3 ke w3 AT & 3 AR BERE 2
| |AH R 3 FmESE% 3 FRAEA 3 hi 3
B BE 3
M 5 3|EE %
hwid <+ 3
#BRK ZFE 3
05/04| B F TE 1 % &H Lo @me 3 ER = N BW TE 2
4 x 400mR s EE 3| 35268013 2 | B HEiE 2 |ZHEE 35267032 3 B4 mE 3 (BB 3posEe2|almiE BEE 2|z=R 34331040
ZE# = 3 ik R 3 A% uF 3 KR &3
A ¥ 2 B WA 3 BmEI—E 3 BmE E 2
®E 8 3 AE R 2 H0O Ex 2 MENES 2
5lts ki 3|ER 3533F057 | 6 [ ARTER 2 |24ET 3534E74( TR KB 2 |24EE 3538E30| 8 |EE B— 2 |gmE 353447096
hi T 1 w2 KE A 3 A OEE 2
i EE 3 B3 fhE 2 A @E 3 =4 PE 3




No. 6
FSwo - T4— )L FHEH - F:E - R - R - BRERE

el B0 a— (2] ek THBSEE SOUEBHNESSYERAREALELASEIAHMRTESL o 13222054 |  #HE i BB KK B0
T A BPHMESEERATEYE E=AELHEHS B4 SEmE LGRS a— R 223030 Ak AT mil T
ner| e[S ma | W s P wr | M wmoens P wa | M wmoens P e | ) wmwens P sk
05/04| 5% FE |2 LT 0T 3 RE & 3 MEE— 3 e &E 3
4% 400mR 1 w3 |mE 352352 2|54 Mk 3|EEE 35247083 3 Ik Ex 2 |2iEE 3525872( 4 [luA MK 3 [MRH 343295069
BAR BEH 2 T BEE 3 ha RE O3 wE 2E 3
| g4 f2E 3 T ER 3 mWFE EHE 3 A BE 3
GEEZ FMESH 3 FHMAER 3
5lAR BE 2|RER 3533F04(6|EE BE 3 |HE 35428073 7 |BEEE B 2[EByE 353495082
EE BE 2 ko B 3 hAHAER 2
_ _ g 3] BA B 3] AT 2 3] __ —
05/04| BF R TIWUE i 3 |R= M0 [8|AT 2 |Bfm= mi0 || 9|Fk BE 2|H= M0 |10|A% Bz 3@ Tm65
EEH T~
. 10[FIE BE 2|%= 65 (12| K& EEZE 3 |/MRH me5  [13[E& WA 3 |=R= Tm60 wmN B 2|BRL TEGL
BF BX 2|BRBRI SEG L
05/03[ B+ R TR 5 S |2kR 6mis | 8| BA RBA J|=BR 6m07 |9 (iE & 1| =fam 6mo6 |10|=m Hw 2|2k Bmo6
ENE Bk T~ | +1.6m +1.6m +1.8m +0. 8m
% =& 3 |ERHAR 6m05  ||12[EA& Baz 1|2 6m00  ||13[fF  =F 3 |BE 5mo4  |14[ILE KB 2 |R=E 5ma8
+0. 5m +0. 7m +0. 2m 0. 4m
BRI BA 2|20 R BEEEEEEE 5m/8 |10 A 3 |2hem b7l |18|HE Xz 3 |Em 5m75
|| +1.2m —0.7m +1.2m +1. 6m
O|EER2S || BEE bm74  ||20[70k BB 3 |EEE bmb8  ||21|F & B 3| RER 5m36 |22 RAEK HE 3| BBFE 5m23
-0. 6m 0. Om 0. Om +1. 1m
2[hA &= 3|2k 523 ||22[& @ BH 2| ElewR 5m23 ||25[70fk ey 2| BT 5mig  ||26|KEE Rt 2 |EMBT 5m10
|| +0. 1m +1. 8m —0.7m +1.2m
271|EF K@ 3 |=RmL 5m03  ||27|FE =% 3 |Em 5m03 |29 RABAR 2| &BFE 4m69 A& BhE 2 |BWRIEFE | mEuL
0. Om -0. 5m +0. 4m
AT EE 3 |EE RREL | PR B 2|2Rw RREL | (FlE Bx g |mE B HEEEEE B ESS EEAL
BEE I EEES RHAL | [Bdh =t 3|=2EE TREL | [TBAEA I |BBFE x5 B hE 2| THEET x5
05/04| B F R TR B 2|2 71 |8 [BE BA J|ERR 7 |9 |FE =% S|ER 2n5 |9 [RE X8 3= T2mi5
=Rk Tz~ || +0. 9m -1.1m +1.2m +0. 9m
NEH K@ 3|2’L 98 [[12[lhE A& 2|B= Tim88  |[13[F%E #HE I |BEe= Tim8T  [14[&/I @im 2| BT Tim79
+0. 6m +1. 8m +1.2m +1.9m
15[ILE EE 3 [EE 11mb3  [[16| KE #Hth 2|B4ET 1md2  [[17|HE BA 2|55 1mi6  [[18[;E2 =&E 1(2) 11m15
|| +1. 3m —0. 5m 0.0m +1. 9m
0|FE B 2 |2km Tim01  ||20[FiE Bx 2 |HEfE T0m83 A& BB 2 |BBANETF x5 B hE 2| THEET x5
|| —0. 5m +1.1m
FO Ex 2|2RA 3] LB & 3 |2BR x5 FHE Bm 2 lj%;jﬁﬁ x5
o
05/04| B F R TIER BHZ 1| EhTrE omes || 8 | FhIr 2 B om26 || 9 |BE A 3|l omi7 10|20 %— 2 |EBFE om0’
Faf 3% [6. Okg| T4z~
MBR == 2|me 896 ||12[BA =B 3 |mE 8m93  ||13|BL0 BA 3 |ERER gm7Z 1470 mA 2| RER 8m59
BEE 2R GG ED el |16|E% B 2 |BRER a6 |11 BEZ  2|EBT T2l 18| FHEKRE 2|BRT Tm06
19[8KRE—EF 3 [2R 6m87 [[20/lLO Fth 2 [E2fEdR 5m51 Al RE  3|EER XI5




No. 7
FSwo - T4— )L FHEH - F:E - R - R - BRERE

bl B0 a—k [2] BrEes  FHSEE FONBNRSEIHAAHEARBEIARR=ABEFEE o—F  [13222054] #HHE S BHG5) SE B 00W)
A BRSSSYRAEESE R=ABELBEERS Y ERTELRRS a—F [ 223030 | i #NL T
ner| e[ ma | W s P wr | M wmoens i wa | M wmoens P e | ) wmwens P sk
05/03[EF R T[EE HB 3 |[RE 28m31 [[8|&IT Fesr 3 AER 2imis 9PN ZA 3| ExE 26m33 ||10|El BflE 2|2meR 24m29
FgL. 7o T~ NTH xT&R 2[EEE 22m71  [|[12[#% X 2|8 22m49  [13|R#F E  3|fRiI 22md6  [14|=FE EH 2 |HE 22m05
15SR R IJ|ERF 21mb5  [|16|Z& & g 3|85T 21m15  [|[17[#% #we  3|#&E 21m01 |18 Eth 2|=RE 19m88
9l ®E 3 (2R 19mb9  [120[%E H&E 3 |RE 19m20  |[21 6 27 In 2 |2HhR 1m13  [[22|&=#H 2 2[FWEAEF 16m27
23(lLO #wh 2 [BEHR 15m41  [24[#E K 3|f& 12m81
05/04[BF R TIBR n= 2|R= om0 |[8[BI Bw 2 |EEE 4Tm3z | 9[BE &k 3 |=RL 40m23 [0/ #F oA 2 |BEkE 38m85
A K MZE  ® 3|BRT 36z 12BN EFr 3| RBR a6 [T3[FRF W 3|l mb4 M BX 21SMAT 28m36
B 20m34 | [P EE 2 |BmeE 3 LR XE 2|2R& 73] & WA 3 |BREm 73]
05/03[ &% FE|T]06M1|/~5 705 2|=mm 2882 | 2|W = 2|=Em 3929 |S|BEAET | BBR 338 |4[Kk0 =B 3 |RK=E 13140
oo BEEEEERE 377 (6|0 w08 2|@E 400 1|58 B= 2|&/ KT | 14B09 |8|%® TR 2|BE 157545
05/03| % F FE | 2| m | ETERE 3= 210 | 2|[2ARER 3|2 TS0 |3 |[BRADY 1 |BEkE 025 |4|ER = 3|ERR 333
oo S=@HT & 3 |mE 13835 | 6|HE =W 3 |BE 374 7|00 R} 3 |MRE 14935 |8|H0 ma  2|EE 147583
05/03| % F FE |32 1[LO @M 2|/ ERT | 12084 |2|MmB R J|HeE TSB14 | 3| LABRRE 1| BIRe 023 4| KT RE 2|BEE 342
oo S|EE ME  3|MRH 358 6[Ma =& 3 |BRE 45563 | 7|LA E# 3 |FTHR 5154 | |ERGEGH 2| A5 73]
05/03| % F TE |4 o1 |=8 B85 I2 T318 (2| E% ZdE  2|RE 326 3|k & 1 |2km W53 | 4|04 BB 2 |BRE 127500
oo S I 4B13 |6|[AE =R 3 |BRA 5%20 | |[BA Bx 3|2 BRRRE | KB BA I EmR 73]
05/03| % F TE |5 [0on T E Rl 2= 71580 |2|RE EF I |ERR T304 |3|5R w2 |BhE T8 | 4K ER 2 |BEE 137539
o S\ME 5 3| B3 |6|EE =R 2|BRn 148521 | 1|RE W 3| BBR 14855 | |[AN = 3 |Emm 73]
05/03| & F ERB| 1|0 1|00 &M 2|@/ KT | 1288 (2|8 Wi Z2|Em 7002 |3|mE ER I |BEE TS24 | 4| LABHME 1|2 T3%530
oo SER FB 2|RE 3531 |6|ER =A 3 |BRR B | T|[RE B 1 |2Em B0 | |=& ®a 3Bk /3]
05/03| & F ERB| 2| 11|/ "5 707 2|ERm N AEE RN M0 |3|RE BS I |BRR 16 | 4|=AXEE 3|2 3126
oo SBERET 3| REE 1326 |6|5R w=h 2|BhE BB |71|eREADY 1 |EEE T3%49 8|7 A8 2 |EAT 13750
05/04| % F TR |11 |28 BES 3|2k 215 |2 K0 =& 3 |RE VXE IR K T S Y EI] 28B40 | 4| BREBT 2|2Rn 287552
oo S[ERERT 2N R 20754 |6|aF EE 3B/ ERT | 20802 | |BER W 2|BE /3] REMET 3 |BRm 73]




bSvD - J4—ILFER - FiE - ERE; -

R B -

Flo e

No. 8

bEl B0 Biies  THRSEE FOEBNESEYHRMARBEASBREASRZAHRFES o § [ 13222054 | R EW(5) EE EZOeM)
A EE R=AREEBRERS Y ERTELRRS a—F [ 223030 | i #NL T
AR T wr | M wmoens e wn | BHEE T, wn | L ok
05/04| & F 2|/ TERT | 26046 |2|FH WmE 2|ZRR 26182 |3 | EHEET 2 |2Rh 2148 |4 | BERAET 1|2 287548
200m 2| =R 297518 || 6 |[REEIH 3 |mE 20092 | |BERBGEH SBER x5
05/04| &+ 3 A 26980 | 2[xF =& S 28011 || 3| RN BEE 2829 | 4| AA #Hz= S |/NRFF 30731
2o AET T 0784 | & =de  2|=AT 73 AE WA GES /3]
05/04| &1 FE 4 KL 21100 |2 | = mERiRx ] 27159 |3 |BEAET SBEPR 211083 |4|=@mbH3 & 3 |m= 287532
2o 2|/ kT | 28871 |o0|mE =R 3 |BE 20710 || 7| L& TR 337501
05/04| &1 TE | 5 RIEES 21156 |2 |FE =& 2R 27161 || 3| B B 287016 || 4|LE KE 2[R 287550
200m I[EEBR 30196 | |[mWLE5% E2Em /3] Al £ %%
05/03| &+ TR RIETT T T23013 76| 2 | B mERT EX 5303012 3 | F 8 INRFF 73067502 || 4 B 3 |m= 23067520
400 2|FHR 15061082 6 (BB E# 2|/ EKTF | 15080747 |BRR BE 15310892
05/03| & F AT T300M08| 2| /K~ B B T3011055 || 3 | P& 2R 301199 | 4 B 2 |2Rm 5037506
400 5] XF 2 |2kA 15057058 [ 6 &SR 3 |mE 15087006 [BRBEET NRF x5
05/03| & F i =X ) |2hm TH0030| 2 [RERRT 2| 2RR 173009581 || 3 [ ] 502043 | 4 | EHERT 2| 2Rh 5303118
400 5] B 3|E=AT 15058026 [BH &M 2 |NR3F 153067556 | 7 | = E e 15053563
05/03| & F i ES A % TH0IB2|2|=8 Ba 3|2 150198 | 3 [Te s SBEIR 502000 | 4|25 &8 2|TWE 53041575
400 5] NEE 1505807 |6 [CREER  2|BE 1507500 7 | B/ IEKT | 1508067
05/03| & F T REE TH03012| 2| Pk BE R 503187 | 3 [2 )1 i 153041508 || 4 2R 3|=RE 53067536
400 2|RE 73 XF* =W 2|BR /3
05/04 ér)gém T AET T 27325038 2 | e S| 273255 15 || 3 | Y 25326010 4 |BA TE 2 |=EM 273337589
AETS 273330906 [FED > h 2 | Biel 253373516 7 [ILA& INRF 253377566 8 e 3 |PmR 253457586
9] RN EFT 275060 [BAmYE 2 |BE 73
05/04| & F T 3B VA AGERETS Y 273315505 || 3 [ &R 2533133 4 EE 3 |R= 2733375 18
500 RN EFT 7BV 6|[F  EE  3|2km 2534350 | 7 |2 B FHR 253457505 8 W 2|/NRF 253497536
2|BE /3] BB B 2|/ RERT 73




bSvD - J4—ILFER - FiE - ERE; -

R B -

Flo e

No. 9

bl B0 a—k [2] BrEes  FHSEE FONBNRSEIHAAHEARBEIARR=ABEFEE o—F  [13222054] #HHE S BHG5) SE B 00W)
A BRSSSYRAEESE R=ABELBEERS Y ERTELRRS a—F [ 223030 | i #NL T
ner | mn [ ma ] W seen | e i || wmEn | i e || wmes | im e || wmes | sk
05/08| & 7 T |3 TBA BE S|EM IR2TB04 | 2 [FIERER 3|2 152103 [E2F BB  2|PHR 2730152 | 4 [T =W 3| B BER 253 331502
o SR B 2| R 253101 6|k ¥ O |Ziem 2530031 T|BF a1 |[eiL 254BAT| 8| LA BE 2 |B/ ERT | 2742031
BEGEEEES BE 3] e mr ?2|2fhe V3
05/04| %% R T[Z# &a TR 273215586 8 [BiA mm 2 |Em N OGERE EE G X I A INE S R EELS 2538095 12
05/03 ggﬁ 743% T N CEES 2T 453487006 2 [B9TR  7cER o | =Nl Yy e EEE G AR50 A RIE W 2|mE 553018510
oo SNMBATE 2|BRR 51141 |6 [EE Wk 2 |EAT A AEEE R 55 1TB62|8[B)I BT 3| BhEm 543207506
9w @ 2|3 SHEAIT0[/NIT E 2 |BEE 55 38ET0|11|FA #ie 3 |BAR SHAOBB|12[HA D% 2|l 553428510
B[k BF I |2hE SR |1AEE 5 3 |BhE 6512878 |[RR o 2|2 x5 g T [ x5
NE EE 2 |%/EXT x5 N B 2 |ER x5 -
06/03| &% 7 FE | 2 TEFEER 3 |HEm 1550706 2 | 5B =18 2|BIT 1735434 | 3 [RE OFD 3 | BiER I NEEES: A EL 30437
oo 5 |BABRRER VE_IJ;"-T 5506H34 |6 |k BEE 2 |BRR SR 7| BHERT 3 |2hem N BEEEEE I 5532012
9[EK EX I[EEE 55248 [10[fF  B& 3 |2hem SRR |[11| =8mEs 3 |/NRFT 52082 |12BA BHE 2 |mE 55331527
B EEEEIS S ST I0|14[/iE =¥ 2 |2hem 5542l |15|BmF BE 1 |[eiL R INEENEE LG E] 553317573
[ ESEE ] B/ TERF | 553909 (18[35A T 3|l 543527088
06/03| &% 7 R TEm 22 1|BSf%E 1556144 | 8| RIE RE 2 |RE 17558700 9 [NAB R TE 2| BB 550023 10| AR 3 B 553007543
oo e i BE  7|ERR SR |T2EE FR 2| 55520553
05/04| & T RIE MBAERZE 3 |EH TIA0IB20| 12| RE & 3 |2em TS TTBAL|T3| =M e 3 |/INRIT IR BRI R T 5325872
3000m e 15| AR HIKF 25 115335882/ 16|BEH MR 3 [HE 144808 17(NEEH T = S|EM 115350%55(18[/MII i 2[BXE 1153555057
19|18k DF =L 1153567023[[20[;FK ZEx 3[EXE 1253028 73][21(82 8 B/ 3 [S15E 125310%068)22[85 K HE 2(HE 125313703
23[I|A BETE =L 125334801224 /hh B 3 [/MRH 12733782725\ B2 &F@ 3 |EAT 1352057086) |J2 BE 2 :%LJ[I Ri5
WAEEGC 3| E X5 | [#E EE 3@ % | R EE 2[R/ EEF | 0B -
06/03| &% 7 FE | 1[0.00 1|k BHT gﬁﬁ 6030 | 2|k T 2 1%:5&%: BN HEEREIEEE 167565 | 4|ILL i 2| 167567
100nA(0- i S[ER @ 2|EBm 20 |6|RF BE 1 |=kn 823 || (FH EE  2|EW x5 BRMET 3|2hm x5
05/03| & T FE[2[0.0m T[T EF Fx 1|2 630 |2 |EAERE 3 |EM 64T | 3|AH BE  2|RE 653 4|7 T & 2 gﬁﬁ 512
100niE0. B4l SIS T35 6] E0E 3 |RE T | T[XH Tk 2 |EhEn 107504 | [ALE5%E 2 :%tfﬁ x5
o




bSvD - J4—ILFER - FiE - ERE; -

R B -

Flo e

No. 10

el B40 a— (2] Biias  FRGEE FOEDMESSERBAFBEALELIASHIAHBRTESRE =— | 13222054 #HIR Rl BEI(5) EE B 060
T (A BHESEFERATESR HZMELBREGS B4 EnhiELHRS a— R 223030 e AT Hil T
ner| mn [ ma | W s i T AR, wa | M wmoens B e | ) wmwens B, sk
05/04| & F FE | | HEEESEREI TH08105 | 2 [EARRE 3 |EM 1508855 3 |#h D&+ 3| =2fem TH00%36 || 4 | AN mE 2 |h= 1513126
400mH[0. 762m
5|A# Bk 2|2RHE 5138036 [ kA =& 2 |PHE T2 158043
05/04| & F & | 2 N E A 1708740 2 [2)11 TBF 3 |&; 70050 3| £/ B 3 |H= 0052 4 | BA =R 2|2kx 1174
400mH[0. 762m
SIUE e 2|R= 5145736 (B =/ 2 |2kmE T2 158019
05/03| & F TE |1 EE = 2 BF &5 2 LE @ 2 L@\ k= 2
4x 100mR 1l/_5 7y4 2|2Em 50%b40 [ 2 |mAAmB=E 3|z 51000 [ 3|4k =i 2 |m= 51015 |4 | &= 2R3 527068
BAR BE 2 ME % 3 kO =g 3 Sl fE 3
BHoEFT 3 aE EE 3 =EhTE 3 Aa Hf 3
LA 3 2 KE B 3 KE ZR 3
5|8 #E  2|2Em 533009 [6[IBEFEF 3 |wEE 5326 | 7|EmERE 2|ZEmE 53%592
BT & 2 e R 3 BH ks 3
_ KE_FB 2 HIERE 2 SERIEBEF 2
05/03| & F TE |2 KT BB 2 EEIEISHNE e =i 3 XE =B 2
4x 100mR 1|EHERE 3= 508002 [ 2|®E =S 3|=Em 508047 (3 |A# tE 2 |mEeE 50#052 [|4|= ®E 3|2R 51%b58
Ml OEE 2 SRE BT 3 kIt EH 2 % )E 3
e B 2 EiR EM 3 SHENE 1 FE_E 3
BF EE 3 K mF 2 wIE G 2
5l@E mE 2|msExT | 52m03 |6|wTF Bz 2|mzm 53%b64 | 7|mEZE 3 |BE 55§31
EBE $E 2 kg FB 2 FEERE 3
=07 ) Bk BFE 3 Mg =B 3
05/08| & F TE 1 KT BB 2 Bt KK 2 AN E 3 BF Bx 2
4 x 400mR 1|EHERE 3= an1Ees| 2 |[EmEEF 2 |2iEE a3mTs) 3 |em =x 2 |ezEy 45138098 4 |k HE =F 2 (BB 453177067
AT B3 B =F 2 EBHLH 1 e B 3
P pE 3 BIMERT 2 RRERD 2 wE FE 1
IERFEF 3 ®E mE 2
A IESEE A5 4517876 [ 6 |BE HE 2|EsEaT | 49268041 FIHE x5
AB B#H 3 e &Em 2
s EB 3 R mE )
05/08| & F TE |2 FENEZANE BF ®IiE 2 MW ME 3 Tk 2% 3
4 x 400mR 1|Z@bTs 3|m=E 45316%020(| 2[R BF 3 |=aEm 4518®16( 3 e EHa 3 |MEH 183 4laR wHm 2|zEE 453207553
B E0E 3 EiR EL 3 WA KE 2 XE FB 2
ko =B 3 B3Ik 3 hE E% 2 e EfE 2
% pE 3 I R 2 LF =Zx 2
5= & 3|zE 4522m92( 6 |BABSE 2 |HE 452858 | 7Kk EF  2|BER 4453305166
hit EE 2 FEERE 3 kg FB 2
FHE_E 3 CHREEE 2 Ek B 3
05/03 iiﬁb ﬁenﬁ TIEH ZH 2|[R= O B EE S a0 | 9|BA =& 3| H= Tm40 T R N YT TRGEL
= i ~
HIl BEE 2|R=E TRLEL | |RE == 2|2RE REEEL




bSvD - J4—ILFER - FiE - ERE; -

R B -

RR%

No. 11

et BN FHBEE FOEBMESSERBAFREALELIASHIAHRTEE = 13222054 #HIR Rl BEI(5) EE B 060
T (A BHESEFERATESR HZMELBREGS B4 EEhELHERS 223030 e AT mi T
aer| e [ '1 N s N s e | ) wmwens i sk
05/08| & F R 7 A EEEES IBA Bx IS T EZ A =R Im56
FENE Bk i~ +0. 4m -1.1m
12|ER 34 13[;hEA  {EFE 4md2 14| BT B EfF 4m34
+0. 3m +0. 6m
LEEEES &8 &= 4m03 FLHE AEIE EEm X%
-0. 6m
05/03| &%+ R IR Em NESCREZ tm28 |11~ =K [ m06
Fa# 3% [4. Okg| 8z~
BEIT BE= 14[E *% 5md3  |15]8%A #IZx RE 5m02
05/04| & F R AESIETI 2R =l 20m69 10| B B= R Tomi5
235 (1. Okg| 7452~
28 *& EEZIETS Tom80 (14|50 K&k 5 T6m79
= LB LR 7| XE E& T4m80
05/03| & F 3 £ GRS IEm W= 22m85 ||10| KB =K T 2T
XU 1%[0. 6ke| T~
5 AEEIETS T3[R B TomiT 14|58 Bt EEE Tom22




